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residuals
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Fiber 2840, dchi2frac= 1.0
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data
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model
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1.00.80.60.40.20.0

Fiber 2799, dchi2frac= 1.0
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data
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5 0 5
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model

1.52.02.53.03.54.04.55.0
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5.0
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2.01.51.00.50.00.51.0

Fiber 1463, dchi2frac= 0.9
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model
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Fiber 2441, dchi2frac= 1.0
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data
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model
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Fiber 2505, dchi2frac= 1.0
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data
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5 0 5
5.0

2.5

0.0

2.5

5.0
model
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Fiber 2183, dchi2frac= 1.0
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data
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model
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2.5 2.0 1.5 1.0 0.50.0

Fiber 4128, dchi2frac= 1.0
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data
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model
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1.21.00.80.60.40.20.00.2

Fiber 2068, dchi2frac= 1.0
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5.0
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0.0
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5.0
data

1.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
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2.5
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5.0
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3.02.52.01.51.00.50.0

Fiber 611, dchi2frac= 0.9, EXCLUDED
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5.0
model
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0.60.50.40.30.20.10.00.1

Fiber 2041, dchi2frac= 1.0
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data
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2.5
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model

1 2 3 4 5
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0.70.60.50.40.30.20.10.00.1

Fiber 872, dchi2frac= 1.0



5 0 5
5.0

2.5
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2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0
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2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
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5.0
residuals

0.40.30.20.10.00.10.20.3

Fiber 938, dchi2frac= 1.0
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5.0

2.5

0.0

2.5

5.0
data

11.512.012.513.013.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

11.512.012.513.013.5

5 0 5
5.0

2.5

0.0
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residuals

3.63.73.83.94.04.14.24.3
1e 8

Fiber 1044, dchi2frac= nan, EXCLUDED
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data
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model
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1.21.00.80.60.40.20.0

Fiber 1298, dchi2frac= 1.0
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5.0
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5.0
data
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5 0 5
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2.5

5.0
model

1.52.02.53.03.54.04.55.0
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5.0
residuals

0.00.51.01.52.02.53.03.54.0

Fiber 2865, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0
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5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.4

Fiber 2305, dchi2frac= 1.0



5 0 5
5.0
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data

0.751.001.251.501.752.002.252.50
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model
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0.40.30.20.10.00.10.20.3

Fiber 1003, dchi2frac= 1.0
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model
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0.60.40.20.00.20.4

Fiber 2785, dchi2frac= 1.0
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model
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1.00.80.60.40.20.0

Fiber 876, dchi2frac= 1.0
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5.0
model
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residuals

0.150.100.050.000.050.10

Fiber 2340, dchi2frac= 1.0
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0.40.30.20.10.00.10.20.3

Fiber 4498, dchi2frac= 1.0
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Fiber 1078, dchi2frac= 1.0
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model

0.50.00.51.01.52.02.53.03.5
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5.0
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1.21.00.80.60.40.20.00.2

Fiber 1288, dchi2frac= 1.0
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data

1.52.02.53.03.54.04.5
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model
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residuals
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Fiber 2812, dchi2frac= 1.0
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Fiber 565, dchi2frac= 1.0
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model
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0.30.20.10.00.10.20.3

Fiber 4030, dchi2frac= 1.0
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0.70.60.50.40.30.20.10.00.1

Fiber 1173, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model
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0.10.00.10.20.30.40.5

Fiber 2558, dchi2frac= 1.0
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model

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.40.50.6

Fiber 2468, dchi2frac= 1.0
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Fiber 2730, dchi2frac= 1.0
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data
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model
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Fiber 4056, dchi2frac= 0.9, EXCLUDED
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model
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0.50.40.30.20.10.00.10.2

Fiber 4204, dchi2frac= 1.0
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5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.0 1.5 2.0 2.5 3.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.70.60.50.40.30.20.10.00.1

Fiber 1017, dchi2frac= 1.0
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Fiber 4165, dchi2frac= 1.0
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Fiber 4154, dchi2frac= 1.0
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model

0.51.01.52.02.53.03.54.04.5
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5.0
residuals

0.80.60.40.20.00.2

Fiber 1249, dchi2frac= 1.0
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data
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model
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residuals

0.200.150.100.050.000.050.10

Fiber 2616, dchi2frac= 1.0
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data
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model
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Fiber 803, dchi2frac= 1.0
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1.01.52.02.53.03.54.04.55.0
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model
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Fiber 758, dchi2frac= 1.0
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model
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Fiber 2263, dchi2frac= 1.0
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model
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0.50.00.51.01.52.0

Fiber 507, dchi2frac= 1.0
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data

10.511.011.512.012.5
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2.5

5.0
model
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5 0 5
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residuals

1.451.401.351.301.251.20
1e 8

Fiber 1048, dchi2frac= nan, EXCLUDED
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5.0
model

2 3 4 5 6 7
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1.751.501.251.000.750.500.250.00

Fiber 2656, dchi2frac= 1.0
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5.0
data

2.02.53.03.54.04.5
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2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5
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2.5

5.0
residuals

2.52.01.51.00.50.0

Fiber 2316, dchi2frac= 1.0
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5.0
data

1.01.52.02.53.03.54.0
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model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0
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0.10.0 0.1 0.2 0.3

Fiber 2992, dchi2frac= 1.0
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5.0
data

0.51.01.52.02.53.03.54.04.5
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model
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Fiber 1031, dchi2frac= 0.9, EXCLUDED
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data
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model
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1.00.80.60.40.20.0

Fiber 4432, dchi2frac= 1.0
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model
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0.50.00.51.01.52.02.53.0

Fiber 2184, dchi2frac= 1.0
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data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model
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Fiber 4424, dchi2frac= 1.0
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5.0
data

1.01.52.02.53.03.54.04.5
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model

1.01.52.02.53.03.54.04.55.0
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0.0

2.5

5.0
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0.40.30.20.10.00.10.20.3

Fiber 1476, dchi2frac= 1.0
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5.0

2.5
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2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0
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5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.5 1.0 0.50.0 0.5

Fiber 4255, dchi2frac= 0.9, EXCLUDED


